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[ Visual Multiplication - Guided Lesson Explanation ]

Explanation#1

We count every row to get the answer. We can see that there are six rows
having four images each.

6 rows x 4 columns = 24
6+6+6+6=24

After counting we find that there are 24 images.

Explanation#2

First we have to see what is being asked. We have to solve the multiplication
of 3 rows of 5 columns.

3 rows x 5 columns = 15
3+3+3+3+3=15

After counting we find that there are 15 images.

Explanation#3

We count every row to get the answer.

We can see that there are five rows having five images each.
5 rows x 5 columns = 25

After counting we find that there are 25 images.

So, we get the answer 25 by visual multiplication.
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